11 Word Problems

Use the TI30XS calculator! Answers on the last page — don’t cheat! ©

1. Aninsurance plan fora family of 6 costs $3000 per year, and it covers 100% of any preventive
health charges. If 4 of the family members had $800 in expenses and 2 of the family members
had $750 in expenses, how much did the family save by buying the plan?

A. $1500
B. $1700
C. $1900
D. $2100

2. If you want to cut 24 two-foot cubes, how many 12-foot boards (like the one below) will you
need?

A 2
B. 4
C. 6
D. 12

3. You can drive 180 miles in 3 hours. On Friday, you drove for 7 hours at that rate. How many

miles did you drive on Friday?
A. 1260
B. 600
C. 420
D. 60

4. There are 3 weights: 0.581 grams, 0.0643 grams, and 0.6 grams. List the weights in order
from greatest to least.

A. 0.6 grams, 0.581, 0.0643
B. 0.6, 0.0643, 0.581
C. 0.0643,0.581, 0.6

D. 0.581, 0.6, 0.0643
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5. How much longer is 4 1—16 than 12?

A.

| U

D. 2-

6. You cut two pieces, each 3 Zfrom a 12-foot piece of wood. How long, in feet, is the remaining

piece?

7. You drove 165 miles in 2.5 hours. Which of the expressions below could be used to find out
how many miles you can drive in 8 hours?

A. 25x8+165

B. 165x8+ 2.5
C. 165x8x2.5
D. 165+8x2.5

8. The scale on a map reads “2cm=125 km.” How many kilometers would be represented by 4.8
centimeters?

A. 300
B. 345
C. 600

D. 1200
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9. In Phoenix, the temperature at 9am was 92°F. Then, over the next hour the following changes
happened: +2°F, - 5°F, +6°F, -1°F, +8°F, +9°F. What was the temperaturein degrees Fahrenheit at
the end of the hour?

A. 92°F

B. 96°F

0

101°F

D. 111°F

BRAIN TEASERS

This is a multiplication box. Each cell represents the horizontal number times the vertical

number. For example, the 20 in the right corner equals 5 x 4.

a? ab 5 10. Which of the following is equal to a?
A. 2
a ab B
C sb C. 5
D. 10
4 40 20

11. Which of the following is equal to a?c?

A. 13
40
60
42

O 0w
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ANSWERS

1. Aninsurance plan fora family of 6 costs S3000 per year, and it covers 100% of any preventive
health charges. If 4 of the family members had S800 in expenses and 2 of the family members
had S750 in expenses, how much did the family save by buylng the plan? ﬁhm(_\’ }
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D. $2100
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2. If you want to cut 24 two Qot cubes, how many 12-foot boards (like the one below) will you
need?
\ “L
() ooy 24 of

C. 6 {2 Z CY\%&
D. 12 Z"\”“[ﬂ ::L\

3. You can drive 180 miles in 3 hours. On Friday, you drove for 7 hours at that rate. How many

miles did you drive on Friday?m%’m C)'\‘?m\n(.t {GYY\/‘U\\C\ d = Y xX
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D. 60

4, There are 3 weights: 0.581 grams, 0.0643 grams, and 0.6 grams. List the weights in order

from greatest to least. T— U\K—O TO )fUYﬂ WSE, w\\r‘o V(,‘( CEY\\"’J /d
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B. 0.6,0.0643, 0.581 W\mm\m TY\R/Y’\%WT
C. 0.0643,0.581, 0.6 O.\% ) 6?\ 6&9\—”6
D. 0.581, 0.6, 0.0643
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5. How much longer is 4li6than 12? U\E{, MY Oa\ W\W Y
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D. 23
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6. You cut two pieces, each 3 %from a 12-foot piece of wood. How long, in feet, is the remaining

piece? \
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7. You drove 165 miles in 2.5 hours. Which of the expressions below could be used to find out

how many miles you can drive in 8 hours?

A_2.5x8+ 165 [ps—f\(m CroSs W P\VB

@65x8+2.5 ¢ S\n YS
C. 165x8x2.5 \ uﬂb X g
D. 165+ 8x 2.5 = S

8. Thescale on a map reads “2cm=125 km.” How many kilometers would be represented by 4.8
centimeters? Q_Cm A, % \)\\h
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9. In Phoenix, the temperature at 9am was 92°F. Then, over the next hour the following changes
happened: +2°F, - 5°F, +6°F, -1°F, +8°F, +9°F. What was the temperaturein degrees Fahrenheit at
the end of the hour?

o e VWY Ay oy
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C. 101°F
1°F

BRAIN TEASERS

This is a multiplication box. Each cell represents the horizontal number times the vertical
number. For example, the 20 in the right corner equals 5 x 4.

o ab 5 10. Which of the following is equal to a?
a abt 6 {\/@ 2
/2 v B. 4
c 8b C. 5
4 40 P10
20
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11. Which of the following is equal to a®c? W m \‘]Oﬂ
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C. 60
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